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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from  1 to 6.

Each carry one score.

1. Movement from one status or

occupation to another is ............

a) social order

b) social mobility

c) social status

d) social control

2. Complete the chart.

Caste and race G. S. Ghurye

in India

Living Tradition ..................

3. The process by which we learn

to become members of society

is ...........

4. The researcher trying to look at

his or her research through the

eyes of others is called .........

a) relativity

b) self-reflexivity

c) rationality

d) retrievability

1 oOf¤ 6 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. KqO khv] ARsæË]¤ RfLu]s]¤ j]ÐV

oRãLqO khv]p]SsS¨L RfLu]s]Ss

S¨L Dtt oLãoLeV ..................... .

a) yoPz]W NWoU

b) yoPz]W \sjƒof

c) yoPz]W khv]

d) yoPz]W j]pNÍeU

2. \L¡ŸV kP¡¾}Wq]¨OW.

CÍ|p]Rs ^Lf]pOU ^]. IyV. ZOSq|

vUwvOU

y^}v kLqÒq|U .....................

3. jLU yoPz¾]Rs KqUYoLp]¾}qOÐ

NkNW]ppLeV ................... .

4. oRãLqLtORa WLuV\ÕLa]¤

j]ÐORWLºV y~ÍU YSvxeR¾

SjL¨]WLeOÐ q}f]pLeV ............... .

a) BSkƒ]Wf

b) BfVo Nkf]lsjU

c) pO©]\]Í

d) f]q]R\ÿaO¨¤ Swx]

(6 × 1 = 6) (6 × 1 = 6)
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5. The way it works for others

beyond their own interests is ....

6. Name the Indian Sociologist,

who conducted fieldwork among

tribal communities.

a) G. S. Ghurye

b) M. N. Srinivas

c) Sarachandra Roy

d) D. P. Mukherjee

Answer all questions from 7 to 11.

Each carries two scores.

7. Differentiate mechanical

solidarity from organic

solidarity.

8. Explain macrosociology with

examples.

9. Briefly explain the symptoms of

welfare state.

10. What is emperical investigation?

11. Comment on pluralities and

inequalities among societies.

5. y~ÍU fL¤Õq|¾]jV Af}foLp]

oãOttv¡¨OSvº] Nkv¡¾]¨OÐ

q}f]pLeV .................... .

6. SYLNfv]nLY°¥¨]ap]¤ l}¤cV

v¡¨V ja¾]p CÍ|¢

SyLSx|Lt^]ðV BqLeV?

a) ^].IyV. ZOSq|

b) IU.I¢. è}j]vLyV

c) wqfV\NÎ SrLpV

d) c].k]. oOX¡^]

7 oOf¤ 11 vRq IsæL S\Lh|°t¥¨OU

D¾qRouOfOW. 2 yVSWL¡ v}fU.

7. pLÍ]W RIW|hL¡d|R¾ RR^v}W

RIW|hL¡d|¾]¤ j]ÐV

Sv¡f]q]¨OW.

8. òPs yoPzwLyVNfR¾¨Or]\ÿ V

DhLzqe yz]fU v]wh}Wq]¨OW.

9. SƒoqLxVNa¾]R£ sƒe°¥

\OqO¨] v]vq]¨OW.

10. AjOnvy]ÈoLp ASj~xeU

IÐLRsÍV?

11. yoPz¾]Rs mzOf~U, Ayof~U

IÐ]vRp¨Or]\ÿV v]vq]¨OW.

(5 × 2 = 10) (5 × 2 = 10)
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12  oOf¤ 15  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

12. kLq]ò]f]W NkwVj°¥ yLoPz]W

NkwVj°tLp] WqOfLvOÐfLeV.

v]wh}Wq]¨OW.

13. BiOj]W v|LvyLp]W yoPz¾]

R£ wq]pLp Nkv¡¾j¾]jV

yVNf}W¥ v}ŸOWLq|°¥ SjL¨]ja

¾OWpOU kOqOx¢oL¡ vqOoLjU

WRº¾OWpOU R\áOÐfLeV

An]WLo|RoÐ j]¡vÿzevLh

WLuV\ÕLa]SjLaV j]°¥

SpL^]¨OÐOSºL? IÍORWLºV?

14. yoPzwLyVNf¾]¤ wLyVNf}p

kbjoL¡«°tORa NkLiLj|U

v]wWsjU R\áOW.

15. khv]pOU kËOU fÚ]¤

v|f|LyRÕaO¾OW.

Answer any three questions from

12 to 15. Each carries three

scores.

12. Environmental problems can be

considered as social problems.

Explain.

13. The functionalist perspective

argues that modern industrial

societies function best if women

look after the family and men

earn the family livelihood. Do

you agree? Why?

14. Examine the importance of

scientific methods in the study

of sociology.

15. Distinguish between status and

role.

(3 × 3 = 9) (3 × 3 = 9)
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Answer any three questions

from  16 to 19. Each carries four

scores.

16. Ascribed status has some value

even in the modern society.

a) Give some examples.

b) Differentiate between

ascribed and achieved status.

17. Write notes on :

a) Gated Communities

b) Gentrification

18. Do you agree that mass media is

an important agent of adolescent

socialization process?

Substantiate your view.

19. a) What is global warming?

b) What are the major social

effects of global warming?

16  oOf¤ 19  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

16. BiOj]W yoPz¾]sOU BSqLk]f

khv]¨V NkLiLj|oOºV.

a) DhLzqe°¥ IuOfOW.

b) B¡²]fvOU BSqLk]fvOoLp

khv]W¥ fÚ]sOtt v|f|LyU

SqXRÕaO¾OW.

17. WOr]RÕuOfOW.

a) mÌ]f yoOhLp°¥

b) WOs}jv¤¨qeU

18. WToLq yLoPz}Wqe¾]¤ oLôV

o}c]p NkiLj kËV vz]¨OÐO

IÐf]Rj j]°¥

AjOWPs]¨OÐOSºL? j]°tORa

WLuV\ÕLaV yo¡À]¨OW.

19. a) BSYLtfLkjU IÐLRsÍLeV?

b) BSYLtfLkj¾]R£ NkiLj

yLoPz| Nkf|LZLf°¥

IRÍLR¨pLeV?

(3 × 4 = 12) (3 × 4 = 12)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)
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Answer any three questions

from   20 to 23. Each carries five

scores.

20. a) What are the various types of

interview?

b) List the merits and demerits

of Interview.

21. Explain the debate between

G. S. Ghurye and Verrier Elwin

on how the state should respond

to  the Indian tribes.

22. List some major environmental

problems with suitable

examples.

23. Match the following :

20  oOf¤ 23  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

20. a) v|f|yVf fqU An]oOX°¥

JRfLR¨pLeV?

b) An]oOX¾]R£ YOe°tOU

ShLx°tOU kŸ]WRÕaO¾OW.

21. qLxVNaU I°RjpLeV CÍ|¢

SYLNfyoPz°StLaV Nkf]Wq]S¨

ºRfÐ ^].IyV. ZOSq|pOU

Rvq]p¡ I¤v]jOU fÚ]sOtt

\¡\ÿRp ¨Or]\ÿV v]wh}Wq]¨OW.

22. NkiLjRÕŸ kq]ò]f] NkwVj°¥

DhLzqe yz]fU kŸ]WRÕaO¾OW.

23. S\qOUka] S\¡¨OW.

             A              B                                      C

a) Primary group Large in size Professional group

b) Secondary group We group Immigrants

c) In-group Face to face Formal relationship

d) Out group Same age group Children belonging to a particular school

e) Peer group They group Family

(3 × 5 = 15) (3 × 5 = 15)

(3)

(2)

(3)

(2)
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Answer any two questions

from  24 to 26. Each  carries six

scores.

24. Describe the various forms of

family.

25. Briefly explain the three

dimensions of culture.

26. What are the factors affecting

social change?

Answer any two questions

from  27 to 29. Each carries eight

scores.

27. Three revolutions paved the

way for the emergence of

sociology. List them and analyze

how did they contribute towards

the emergence of sociology.

28. Discuss the relationship

between sociology and any other

two social science discipline.

29. Write an essay based on

examples to show how conflicts

get resolved.

24  oOf¤ 26  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

6 yVSWL¡ v}fU.

24. WOaOUm¾]R£ v]v]i

qPk°Rt¨Or]\ÿV v]vq]¨OW.

25. yUyVWLq¾]R£ oPÐV

oLj°Rt¨Or]\ÿ V  \OqO¨]

v]vq]¨OW.

26. yLoPz| oLãR¾ y~Li}j]¨OÐ

ZaW°¥ IRÍLR¨pLeV?

27  oOf¤ 29  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

8 yVSWL¡ v}fU.

27. yoPzwLyVNf¾]R£ DfVnv¾]jV

oPÐV v]kæv°¥ vu]Rft]p]¨OW

pOºLp]. Av JRfLR¨pLRe

ÐOU I°]RjpLev yoPzwLyVNf

¾]R£ DfVnv¾]jV WLqeoLp

RfÐOU v]whoL¨OW.

28. yoPzwLyVNfvOU JRfË]sOU oãO

qºO yLoPz|wLyVNf v]xp°tOU

fÚ]sOtt mÌR¾¨Or]\ÿ V

v]whoLp] \¡\ÿR\áOW.

29. yUZ¡x°¥ I°]Rj

kq]zq]¨RÕaOÐO? DhLzqe

yz]fU Dkj|y]¨OW.

(2 × 6 = 12) (2 × 6 = 12)

(2 × 8 = 16) (2 × 8 = 16)
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